Updwtwqpnipjniu N 3
CMSL-FKUMAR-23/TU-6 Swdywagpny quuwitodwl hwpgdwu qudwu

pupwgwlwngh quwhwinnn hwuduwdnnnyh Uhuwnh

p. Gpluwu 19.09.2023p.
dwdp 10:00

Uwutwygnd bt hwudtwdnnnyh uwhuwquh' Enywpn Udtinhujwtp, wunwdubp Upubt Uwpgjwtp,
Uhuwh| “wpwwbuwup, qunwiubp  hwdwluwpgnn Snhwp  Gwnlnujwup, «U-Ubnwp UMC-h
inioptiip U «UU» UMC-h jwgnp ubplyuwywgnighsubipp:

Opwlwpqp
dhwdwdwuwlyw pwtwlgnipintuubph wpnintupub

L wuwydwtiwghp Yupbint npnydw dwuht

CMNSL-GCUMAR-23/TU-6 Swdlwgpny qudwt pupwgwlwnpgh quwhwwnnn  hwuduwdnnnyh
uwfiwquwh  Endwpn Uybnpuwup  bhunp - hwpunwpwpbg pwgywsd U wbnbljwgpbg, np qup
Ujwqbigdwt 2ning  hpwyppdwsd  dhwdwdwuwlw Pwuwlgnieyniutbiph . Ybpguwdwdytinht  9-pn
swthwpwdth dwuny unp quwiht wnwewny £ ubipywjwgpby «U-Ubknwp UNC-U U «UHU» UMD-u:

Uhtsl putiwygne)nititinp p”:f;“:&i?;‘g;g‘;ﬂgn“;“gzﬁ"“‘
Ubpywjwgywsd quwjht wnwownly s il
Uﬁuhu;qgh ¢ Gudwt ghu
M tntp Undb uue Cunhwuntp Updtp uuc Cunhwunip
naap ghup ghup
“U'gf]gwt” 150000 | 30000 | 180000 | 137500 | 27500 165 000
9 204 000

«UHU» Une 150000 | 30000 | 180000 | 140833,3 | 28166,67 169 000

2. Fuwhwwnnn hwudtwdnnnyp nwnwiuwuhpbing dwutiwyghutph Ynndhg pwuwygnipiniutubiphu
ubipyuwywgyws unp quwihu wnweownyp npnokg' 9-pn, swihwpwduh dwuny punpywsd dwutiwlhg
twuwshk) «U-Ubinwp» UMC-hu:

Fuwhwunnn hwuduwdnnnyh wunwdubph Ynndhg hwyintwpbpyty kp, np «twyghe b Uhpwbip»
UNC-h Ynndhg ubipluywgywsé hwynh hwybws 1.1-h 18-pn swihwpwduh nbuuhyulywu
punipwgpnud Yw wuhwdwwwwnwufuwunigniy, hhdp punniubing << Ywnwywpnuygjwu 526-u
npn2dwt 41-pn Yawnp' quwhwindwt uhunp Yuubgybg U «Ywidhe U Uhpwtip» UNMC-h dwunigtig
U wnwowplybg 1 wpluwinwlpwiht opjw pupwgpnd snljh wuhwdwwwuinwufuwunygniup:
«tudhp W Uhpwjbipp UNC-u 2023pdwlwth  ubiwywnbdpbph 15-hu ubiplyugpbg Gondwd
Cudtijws  1.1-p: Fuwhwwnnn  hwuduwdnnnyp nwnwtwuhpbin  Jwuuwlgh  Ynnihg
ublwywgyws Gangws Lwybiyws 1.1 L npngtig' hwyunp qUuwhwuwnb| pwdwpuwp:



Yuwhwwnn hwtduwdnnnyp npnykg*

o «UW» UNC-hu punpwd dwulwhhg Gwuwsk| 5, 6 swihwpwdhuubiph dwuny W Yuph
wwjdwuwghp, nph punhwunip ghup YYwqdh 371,100 (Gptip hwpynip jnpwuwunludtly hwqup
hwpynip) << npwd wpdbipny' UUL-U ubpunyu;

¢ «hughp L Uhpwybp» UNC-ht puinpyuwé dwubiwlhg Gwlwsk 2, 3, 11, 12, 13, 14,16, 17, 18, 19,
20, 22, 23 gwihwpwdhtubiph Jwuny b Yupl wwydwUwghp, nph punhwunip ghtup YYwqdh
811,440 (nipe hwpjnip twubdkly hwqup snpu hwpynip pwnwunit) << npwd wpdbipny' UUL-u
ubipwnuw;:

* «BNP-Sbtu» UMNC-hu punpwsd dwutwlhhg Swuwshy 21 swihwpwduh dwuny L Yupk
wwjdwuwghp, nph punhwunip ghtup Yywqdh 454,992 (snpu hwpnip hhuntugnpu hwquip hup
hwpynip huiuniutipynt) << npwd wipdtipny' LUL-u ubpwnjuy:

e «U-Ukwnwp» UNC-hu puinpdws Jwutiwlhg dwlwsh 7, 8, 9, 10 swihwpwdhuubiph dwuny L
Yupb| wwydwlwghp, nph punhwung ghtp Yywadh 1,522,001 (dty dhihnt hhug hwpinip
puwutipynt hwquip dky) << npwd wpdtipny' UUL-U ubpwnywy;

e «Ph RN b» UNC-hu punpdws dwutiwlhg bwuwsh| 4, 15 swihwpwdhutbph Jwuny b
Yupt wwydwlwghp, nph punhwunip ghtp Yywqoh 714,600 (Inp hwpynip twutisnpu hwqup
&g hwpyntp) << npwd wpdtipny' UUL-U ubpunw;

e «Pbup Qpnuy» UMC-hu punpdwd dwutiwhhg Swiwsk 1 swihwpwduh dwuny b Yupk;
wwydwUwghp, nph punhwunip ghup Yywqdh 1,344,000 (&Y dhihnu Gpbp  hwpjnip
pwnwuntgnpu hwquwn) << npwd wpdtipny' UUL-u ubpunyw;
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Cunniuyby £ npnznud”’ Ynnd 3, nbd 0:
Uhuphts biplw hwbstwdnnnyh whnwdubph wint wqquiniabinp b uynpuwgnnyenibiinp.

Suwhwwnnn hwuduwdnnnyh k QD L
twfuwquh' (\, :
;-

\ Endwpn Uybunhujwt

wunwdubp' Uhfuwh| “Ywpwwbivnywt

— Upubt Uwpqujwu

qunwubip hwdwhwnqnq'%ﬂdﬁﬁ Snhwp (Fwnbnujwu



(6N ehy
<MSL-FCUMNAR-23/TU-6 dwdljwgnny quwuzdwl hwpgdwl
pupwgwlwpgh hwjnbph quwhwwndwu

Vwutwyhgubph hwynbiph quwhwindwt wpnyniuptbpp
g Uwutiwlhgubph wiujwunwip
i S
o = 2
N Uwutiwlhgutiph huipnbiph 3 g =€ |5 €15 |5 T
quwhwwndwt ywihwihaubpp £ > & = ° 2 L | &2 |E
3 . =i |2 2|5 | § |F°
32 - 45 = 3 g & €
& = 35 |Po |« | 3 g |&>
5 c; = B 'g-' =2 ] b
s = % |88l
- &
% 2 = o c = = =2 =
R — E= U o2 S EeEenT R
1 | hwiwwywwwufuwuniyeniup 33 % % _% % % % %
uwhdwujwd Yupghu a3 4 & i a & = i
Mwhwugynn thwuwwpenebph i
wnlujnipjniup U nnuiug 3 e e c c| e| = c
hwiwwwwinwufuwunieniup <3 El 3 3 3| 2 3 El
2 nhla;:;gttl:llllwgqh hpuwtipny T2 % % -gf % % % -%
uwhdwuyw L =
=
Juybpwywdwlubpht = - bt (Siae | Maal Selat
/wwjdwuubphu/
Funuiubipht dwutwlgbnt hpwyniupp b npwlwynpiwt swihwuhubpp.
-~ =
E) 3 = c c c c c c
1 | Yunwiubipht dwubwlglnt =3 2 3 3 2| 2 3 3
hnuiniup T2 3 2 2| 3| 32 2| 2
4.8 3 3 3 3| 3 3 3
3 a (a8 CL c a a cL
= 5 = = == =i} = = e
5e | & = El 2 B T| 2
CLAKULNR GLULUSULULE E) 3" 3 _3, 3 ER 3 3 EJ
z 2 | 3 3 E| 3 3 3
d s a a a a a a a

wnn Udbwnhujwu
hwusUwdnnih bwhiwgqwhh wunip wqquntup

19.09.2023p.



3G ehy
<MSL-GCUMAR-23/TU-6 Swdlwgnpny quwldwl hwpgdwu
pupwgwlwngh hwjnbiph quwhwwndwu

Uwutwyhgubiph hwjnbph quwhwundwy wpnyniupubipp
£l Uwutwlhgubph wijwunuwip
-~
% o g g | € &‘I a
N | Uwutwyhgutinh huypnbph 5 g | s€ |5 |S|5|5 |%f
quwhwwndwt swihwuhsubpp £ 5 = [ 2 L | 2 | E
5 . & |22 |2 |5 | @ |FE
3 2 5 =€ | 5 €
a cb,_ 33 |P> |« B £ £>
5 | &8 |8 |®|58 | &8 (B
T = 5 \ = |ea&
= = R < ¥
- &
5 g = =1 = = & = (=
Cwpn Ubipluwywgybint 53 il 2 e | Bl & B[ &
1 | hwdwwwwnwufuwuniyeniup El 3 3 3 3 32| 2 __,3, 3
uwhdwuywd Ywpghu d =2 E & E 3 E - a
Muwhwugynn thwuwnwpenpbph -
wnluyniniup L npuiug =3 c c e [amlivel & c
hwdwuwwnwufuwunyeiniup ) 3 2 3 3| 2 2 3
2 nUr;tltjlgttTllfwgqh hnwytipny T3 % -g- % % —_:34 % %
uwhdwuyw et =
=)
Ywybpwwuwydwuubpht w (4 = i 5 e =
/wuydwuubphu/
Sunuiubpht dwutwygbn hpwyniupp b npuwlwynpdwt swihwuhsubpp.
-, B
3: ,3_ (=4 c (= e c. = c
1 | Yunulubipht dwubwlglnt =3 3 3 3 3| 2 3 3
——— == L2 2| 3| 3= 2=
& S 3 3 E: 3| 3 3 3
= a a a a a a a
=5 = = 2 = == = =4
A S SR s S
CLA<ULNM FLULUSsSULULe 33 3 3 3 3| 32 3 3
3 c 3 =] 3 = 3 3 3
a 3 a a a a1 a da a
Uputit Uwpqujuty /4 /Zé% ,
hwbduwdnnyh wunwdh wuntup wqgwuniup uwnnpwgnnejnt

19.09.2023p.



@6 erhy
<MSL-4CUMNAR-23/CU-6 Swdljwgpny quwlodwt hwpgdw
pupwgwlwnpgh hwjnbph quwhwwndwu

Uwutwlhgubph hwjnbph quwhwundwy wpyniupubpp
9
g Uwutwlhgubph wujwunuip
% o = g | e 8
N Uwutiwlhgubph hwynkph g g i g 3 g g > :3'
L ~ ~ a2 =
quuwhwwndwl swihwuhaubpp = > © 2, 3 g 5 5 = d%u
S A =5 ] A €
F 2 33 |P>|® | B £ | &>
2 a2 lE 2ls | & s
c e R gL Ee
-~ &
5 g =N 2 c o = = =
<wypn Ubipluwywgytiint £ 3 2 g g | & 2| | &
1 | hwiwwwwwufuwuniyiniup T3 E El E} s 2 B ES
uwhdwuyws Ywpght d s 3 3 3 gl 3 3 3
Muwhwgynn thwuwnwpenpbph )
wnlwjnieiniup U npuig = c c e | &l & & =&
hwdwwwuinwufuwlnyeniup = 3 2 3 3 3 3 3 3
2 nhlzlf;gﬁwgqh hpwybpny T3 -% % -gf % 13- % %
uwhdwuyw a=
=
Juipwiudwltbpht & = S e
Jwwjdwuubpht/
Gunuiubipht dwubiwlgbpm hpwyniupp b npwlwynpdwts swhwuhzubpp.
i | =
5 é = c = = = =, =
1 Sunwiubipht dwutwygbine 5 3 3 3 2 2 - 2 3
hpuaniup T2 2 = 2l 3|3 2| 2
a5 3 3 3 3 3 3 3
3 a a a a a a a
r c = =3 c. = e =
s g E | glgeE Al E
CLACULNR QLUcUSuULULe 23 3 3 3 3| 2 3 3
3 3 3 =] 3 =) 3 5
ds a a i a a a a

Uhfuwh) Ywpwwbjwl é g

hwudtwdnnyh bwiuwgwhh wuntup wgquuniu unnpwgnnLntu

19.09.2023p.



